061/ hL kR

#Z F52keg ik

K4 N FE K= SQ1_ [SQ2 [sQ3  [SQ#: [BP1 |BP2 [BP3 [BP#: ST DL1 [DL2 [DL3 |DL%¥ |Total |WilksFormula [WilksPoint [JIEfi
malll ki HREEZEXE 4 47.70] 1025 [ 1175 | 1275 | — 55 60 — [ 1875] 125 | 140 [ 150 | — [ 3375 1.3305 449.04375 | 1

£/ F=H [if] L K= 3 49.01] 105 1125 | — 55 — | 1675 90 100 — [ 2675 1.3023 348.36525 | 2

Wt #HEE [ELKRE 3] 4040 80 875 | — 50 55 — [1425] 90 — | 2325 1.4851 345.28575 | 3

£F BE BEKE 2 50.35 105 [ — 45 50 — | 155 80 90 100 [ — [ 255 1.2769 325.6095 4

B X8 |[REAF 4] 5180] 70 80 — | 45 — [ 125 | 90 | 100 — | 225 1.2504 281.34 5

Z F56kegik _

K4 N FE K= SQ1_ [SQ2 [sQ3  [SQ#s [BP1 |BP2 [BP3  [BP%#: ST DL1 [DL2 [DL3 |DL%f [Total |WilksFormula [WilksPoint |[JIEf
(B £= HEANEEKRE 4| 5220 110/  120] 130 — 75 5 85| — 215  145[ 150 0] — 365 1.2429| 453.6585 1
s F& ALK 4 53.55] 105 5]  115] — 70 75 0] — 190]  115] 125] 135] — 325 1.2176] 395.72 2
FE # ETENE 3| 5840 70 80 5 — 70 0 80] — 160 70 80 90] — 250 1.1386] 284.65 3
Z F60ke Bk _

K4 N FE K= SQ1_[SQ2 [sQ3  [SQ#: [BP1 |BP2 [BP3  [BP%#: ST DL1 [DL2 [DL3 |DL%¥ |Total |WilksFormula [WilksPoint [JIEfi
& BF BEKE 2 60.45 5 125] 140 — 75| 825 5 — | 2225 140 150 155 — | 3775 1.1078| 418.1945 1
Al EF BHFIRKE 1 73.15 160 170 175[ 180 80 5 5 — 255 155[ 165 5| — 420 0.9655| 405.51 2
BEHD 50 HASNEEKRE 1 61.85 0] 120 130] — 75 80 5| — 210 140[ 150 155 0| 365 1.0884| 397.266 3
=25 EE E EPN-2 3 64.05] 105] 120] 130] — 65 70 5| — 200 110] 125 5| — 325 1.0601] 344.5325 4
R FHEE |BEILKE 3 66.85 0] 120 0| — 5 85 5| — 205 105] 115] 1225] — | 3275 1.0272| 336.408 5
B H<H |BLKRE 3 71.25] 125 5 5] — 75| 825 5] — | 2075] 120 5| 127.5] — 335 0.9824[ 329.104 6
EEEEES ] L K 4 60.05 0| 100 5 — 60 65 5 — 165 120] 130 5] — 295 1.1134] 328.453 7
B F52ke#k B

K% N FE K= SQ1  |SQ2 [SQ3 [SQ#F |BP1  [BP2  [BP3  |BPYF [ST DL1 |DL2 [DL3 |DL4F |Total |WilksFormula |WilksPoint |[JIEfz
N thAE RN 3]  51.20 140] 150] 160] — 110 0] 120 : 280 140 150 160] — 440 — — 1
it RIS 2] 49.95 0 70 0| — 50 55 60| — 130] 120] 130 0] — 260 — — 2
5 F56keik _

K4 N FE K= SQ1_ [SQ2 [sQ3  [SQ#: [BP1 |BP2 [BP3  [BP%#: ST DL1 [DL2 [DL3 |DL%f [Total |WilksFormula [WilksPoint [JIEfi
XE BEIE RAFEEKXE 1 55.75[ 165 180 0| — 110] 120 0| — 300 0] 190 5| — 490 — — 1
=R EA HEKRFRE 4 55.50( 130 140 5| — 80 85 0] — 225  165[ 175 0] — 400 — — 2
KB R MR K 2|  55.00 110] 120 5 — 0| 120] 1225 — [ 2425| 130] 140 0] — | 3825 — — 3
H.F EEKEKXRE 1 55.75 110 120 5 — 80 90 5 — 210/ 170 0 5| — 380 — — 4
HE KE | REKE 3] 5455[ 110] 120 5 — 0 60 65] — 185] _110] 120 0] — 305 — — 5




5 F60ke ik

K £ AZ FE | BRE SQ1__[sQ2 [sSQ@3 [SQ%¥ [BP1 [BP2 [BP3 [BP#F [ST  [DL1 [DL2 |DL3 |DL%¥ [Total |WilksFormula |WilksPoint [l
=S Bl |HRERX¥ 3] 5855] 180 190 5] — 0 90| 100] — 290] 185] 195 5 — 485 — — 1
R AR |EILXE 2| 59.30 165 0] 180 — 105 110 5 — 290 170{ 1875 5| — | 4715 — — 2
BT FHx |ELXF 3 58.95 5| 1475 5 — 100 5| 107.5] — 255 170 5| 190 — 445 — — 3
&l FF O |ELKE 4] 5945 140| 155 5 — 0 0] 100 — 255 170 5|  190] — 445 — — 4
A8tz  |ELXEF 4 58.85 0] 150 0] — 0 90| 100| — 250  155[ 170 0] — 420 — — 5
=F [EA fEILKE 3| 60.00 140] 150 5| — 90| 100| 105| — 255 165 5 5| — 420 — — 6
2T BARA PRRZF 4 59.35] 160| 1625 5| — 0] 110 5] — | 2725 5 0 o] — | — — — K&
PN B AFEIR 3| 5865] 150 160 0] — 5 5 5 — | — — — — | =1 = — — £i%
AR X |[EBXEFE 3] — — — — — — — — — | — — — — | — ] — — — 5
% F67.5kefk B
K4 N FE K= SQ1_ [SQ2 [sQ3 [SQ#: [BP1 |BP2 [BP3  [BP%#: ST DL1 [DL2 |DL3 |DL%f |Total |WilksFormula [WilksPoint [JIEfi
HE 84 EEREXRE 3 67.55| 225 5 5 — 140 5 5 — 365| 225 5| 235 — 600 — — 1
Lk BT AR 4] 6710 190/ 200] 205 — 5| 155 5 — 360 5[ 2075 0] — | 5675 — — 2
ZT = L2EEBRAEHKXE 1 65.30 190]  200] 210] — 0 0] 120 — 330] 195 5 5] — 525 — — 3
RO EH BEXE 4 66.05] 200{ 210 0| — 120 0 0] — 330/ 190 0 0] — 520 — — 4
XKl = ] L K 4|  66.70 170] 180 1875[ — 115 0] 120 — | 3075[ 185 200 5] — [ 5075 — — 5
AHF BN HEIKE 4 67.15] 150 5| 165 — 120 135 0| — 300 150[ 175 185 — 485 — — 6
s RS LR K 2 67.25 0 0| 160 — 100 0] 120 — 280| 167.5] 177.5] 185 — 465 — — 7
#A TR iEEFERE 3 60.45 5 5| 155 — 75 85 0] — 240] 160[ 170 185 — 425 — — 8
KFE EN frmE K 4|  66.80 170  175] 1775] — 5 0 0| — — — — — — — — — SRR
EEEITEEEESS 3] — — — — — — — — — | — — — — | — ] — — — 5
5 FI5keik _
K4 N FE K= SQ1_[SQ2 [sQ3 [SQ#: [BP1 |BP2 [BP3  [BP%#: ST DL1 [DL2 |DL3 |DL%f |Total |WilksFormula [WilksPoint |JIEfi
B2 & BEKZE 3]  73.30 0 0] 220 — 135 145 150 — 370| 2175 0] 225 — 595 — — 1
Al FE [if] L K= 4]  74.25 215 230 5| — 5] 135] 145 — 375| 2125 5 5] — | 5875 — — 2
ke 5 FTEN 3| 72.20 200 210[ 220 — 5 5| 145 — 365| 180[ 200 5 — 565 — — 3
EE BAR |HFEREZEXF 2| 7035 180 195] 205 — | 117.5] 125 0| — 330  190[ 205| 215 — 545 — — 4
TR FEA ERERKF 3] 71.95 180 0 0| — 115 120  130] — 310/  200{ 220 0] — 530 — — 5
B2 Al Bib K 4 7430 5] 165 5| — 0 0 130] — 205 205[ 210| 2125/ — | 5075 — — 6
B =& BEKRE 2| 7410 165 175 180[ — 110 5 5| — 290| 200[ 202.5 5| — [ 4925 — — 7
EE H LiEEFERE 3] 7075 150] 160 0| — 0 0 100 — 260/ 180 o[ 190] — 450 — — 8
Rk KA BHEREKE 3| 7420 240 245 0] — 0 0 0| — — — — — — — — — £33
hE B tEEFEREKXE 3] 72.60 170 0] 190] — 0 0 0| — — — — — — — — — E¥73




B 782 5k

K% N FE K= SQ1  |SQ2 [SQ3 [SQ#F |BP1  [BP2  [BP3  |BPYF [ST DL1 |DL2 [DL3 |DL4F |Total |WilksFormula |WilksPoint |[JIEfz
== & ] L K= 3]  76.60 5|  225| 245 — 210] 230 5| — 475|200 2175 225] — | 700 — — 1
[EH KB |EFREEKERE 1l 77.10 5| 225 0| — 125 135| 1425 — [ 3675 200] 220 0] — [5875 — — 2
2l 2 HERAE 4] 7525 o[ 195 210] — 105 115 120 — 330] 220[ 235 250 — | 580 — — 3
BEX BE [EEXF 3|  80.55 0 0] 200 — 125 5] 135 — 335] 190] 205] 210 — | 545 — — 4
BH RE |HEBMRKEER 3]  81.10 5] 195 205] — 135] 140 5| — 345 180 0] 200 — | 545 — — 5
Y& T A AWKRE 4 8195 0 0 180 — 130 0| 140] — 320 160f 180] 190 — | 510 — — 6
=l EE REKE 4]  78.90 0] 180] 185 — 95| 105 5 — 290 5] 210 5] — | 500 — — 7
=G thid RN 2| 78.10 0 0| 180 — 115 5 5| — 205  175[ 190 5] — [ 485 — — 8
SR HFH |EEEFEARE 4] 7830] 150] 170 5| — 90 0 0] — 260] 180 0 0] — | 440 — — 9
5 Fo0keg#k B

K% N FE K= SQ1  |SQ2 [SQ3 [SQ#F |BP1  [BP2  [BP3  |BPYF [ST DL1 |DL2 [DL3 |DLYF |Total |WilksFormula |WilksPoint |[JIEfz
[FES IR FTEN 4|  85.65 245 5| 267.5] — 5| 195 205 — | 4725] 280 5| 302.5] 315 [ 775 — — 1
IR EF HAEEXE 1] 84.90 240 0] 250 — 150 5 5| — 400] 220 0] 230 — | 630 — — 2
ERK & HREEZEXE 4| 8595 170/ 180] 185[ — 170 172.5 5] — | 3575] 200/ 210] 220 — | 5775 — — 3
FE W AWKRE 2| 85.70 150/ 170] 180 — 130 0] 140 — 3201 170 0] 180] — | 500 — — 4
EES EEREXS 2| 8570 0 0 0| — — — — — — — — — — | — — — £
5 F100ke Rk B

K% N FE K= SQ1  |SQ2 [SQ3 [SQ#F |BP1  [BP2  [BP3  |BPYF [ST DL1 |DL2 [DL3 |DL4F |Total |WilksFormula |WilksPoint |[JIEfz
Falll ¥ EEKEKXRE 3]  97.05 0 0| 270 — 5| 145] 155 — 425| 260 0] 2715 — 700 — — 1
AiE 8 FifiTpN= 4] 93.20 240 0 0| — 155 165| 170 — 410] 250 5| 285 — 695 — — 2
RE BEH EREZEXF 2|  99.40 [ 202.5] 217.5] 2225 — | 127.5] 1325[ 1375 — 360] 205[ 220 230 — 590 — — 3
f2E R [EILIXF 3] 98.15] 210] 230 0] — 135] 140 5] — 370 5] 205 0] — 575 — — 4
B F100kg B £k _

K% N FE K= SQ1  |SQ2 [SQ3 [SQ#F |BP1  [BP2  [BP3  |BPHF [ST DL1 |DL2 [DL3 |DL4F |Total |WilksFormula |WilksPoint |[JIEfz
ENiE IERE N 4 124.00 265| 2825 295 — 180[ 195 5 — 490 240 0] 260]2705] 750 0.5708 428.1 1
=iE FA LiEEFERE 4] 107.25 260 5 5 — 160 0 5 — 420/ 250{ 260| 265.5| 270/ 685 0.5932 406.342 2
e #Hih ERERKF 3] 119.55 240 255 0| — 140 152.5 165 — 420/ 240[ 255] 270 280 690 0.5754 397.026 3
ERIN =4 [ERKEXE 4] 126.50 5| 255 5| — 160] 170 0] — 425| 215 5 5| — 640|  0.5685 363.84 4
WT BEKE 4] 114.65 5] 240 0| — 0 0] 150 — 390 0] 230 0] — 620|  0.5815 360.53 5
HH —5h RAFEEKXE 4| 120.25 220|  240[ 250 — 140] 150 0| — 400] 200{ 220 0] — 620] 05746 356.252 6
BR_Fi _|FEXF 4] 13175 0 0 0 — | — [ — | = [ =1 =1 =T =1=1T=1+= — — 5




